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QUESTION 1

Your customer wants to maintain clustering failover capabilities during an SMU software upgrade procedure What

should you do?

A. Put the cluster into "maintenance mode" while the SMU is upgraded.
B. Before upgrading the SMU, move the quorum to another SMU.

C. First upgrade the nodes one at a time followed by the SMU.

D. Put the SMU into "maintenance mode" while the SMU is upgraded.

Correct Answer: B

QUESTION 2

A customer requires a VSP asynchronous replication solution for their Hitachi NAS Platform 4000. They
have two data centers that are over 500 km apart. They are concerned with intermittent network
connectivity problems and would like to leverage disk-based journaling.

Which block-based replication should be used?

A. Hitachi Shadowlmage

B. Hitachi TrueCopy

C. Hitachi Universal Replicator

D. Hitachi TrueCopy Extended Distance

Correct Answer: C

QUESTION 3

Which two statements are correct about Tiered File Systems (TFS)? (Choose two.)
A. Snapshot data is preserved in both tiers 0 and 1.

B. Only SSD and SAS storage can be used for tier 0.

C. TFS should only be used with WFS-2.

D. A maximum of three tiers are supported using WFS-2
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Correct Answer: AC

QUESTION 4

A customer plans to consolidate several multimedia servers that support jumbo frames into a Hitachi NAS
Platform 4000 cluster.

What must be done before increasing the MTU size in the HNAS 4000 system?

A. Increase the MTU size in the Ethernet switch.

B. Disable VLAN tagging.

C. Disable Link Aggregation Control Protocol (LACP).

D. Verily that all components in the path support jumbo frames.

Correct Answer: D

QUESTION 5

Your customer would like to implement a two-node Hitachi NAS Platform 4000 cluster using a HUS 110 storage system.
The HUS is shared with other Open Systems platforms. Ports OB and 1B are the only ports available on the HUS. Hport
1 and 3 are the only ports available on the Hitachi NAS Platform nodes. Which two wiring and zoning configurations
should be used? (Choose two.)

A. Hport 1 of both nodes, and HUS port OB must be connected to switch 1 and could be in the same zone.

B. Hport 1 and 3 of node 1, and HUS port OB must be connected to switch 1 and could be in the same zone.

C. Hport 3 of both nodes,and HUS port 1B must be connected to switch 2 and could be in the same zone.

D. Hport 1 and 3 of node 2, and HUS port 1B must be connected to switch 2 and could be in the same zone.

Correct Answer: AC
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